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(iii) Fulton Committee is related to whom?
et wi PR a8
(iv) Who is the father of comparative Public
Administration?
IO @ S H ST D &
(v) What is Poly-functionalism?
qE-HraTeH T 87
(vi) Give the name of two scholars related to
comparative Public Administration.
@ﬂﬂﬂ%nﬂﬁd%wﬁﬁdﬁ%wﬁﬁ@_
(vii) Princeten conference is related to whom?
e geiae e & Heifta o
(viii) What was the aim of comparative administrative
"~ group?
qEITeT A% SIS TE B T 4
Section-B
(Short Answer Questions)

Note: Answer any 4 questions. Each answer should be given

o

in 200 words. Each question carries 8 marks.
4x8=32
gvs-9
(wg S 99)
Rt 9 99t & I AT TR g AT 200 &
F T yRAF U 8 3% W B

Describe the functions of treasury in Britain.

BRY & ot 3 AT H AU il

Explain the causes of 'development’ of comparative
public administration.

wﬂﬂ&%ﬂ%@@ﬂaw%ﬂﬂ_
()

. Explain the major problem in theory-building in Public
" Administration.

A FATE S Rt R # g e Sl

Discuss the administrative arrangement of China.

o 3 TR e O g9 Sl

Give the causes for the failure of Behaviouralism.

FTEETE % TG B HT A=A
What do you understand by structural-functional
approach?

- gie | T A A &
Explain the ecology of development administration.

Repr TeTE @ Ui B Al

Write a note on recruitment system of USA.
SRR & wE T | @ e R
Section-C

(Long Answer Questions)

Note: Answer any two questions. Answer of each question

Qe

10.

should be given in 500 words. Each question carries,

16 marks. 2%16=32

gue-d

(& Fada u)
%a&&%&@gnﬁaﬁﬁaﬁmooj
¥ S SO T 16 SfE B

Discuss the main characteristics of administration of
USA.
SRR % yaTed @ ged e e

OR
Discuss the relationship between Administrative
development and Development administration.
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